3Q!_50_!_50,!_50_1_50_!_50_!
! ! ! ! ! !
_ _ _ _ _ _
| | | | |
1 1 1 L 1 m
o |2 i
= 2 gls A9
2|8
0 os
N| N < -1 r-—-———1rtr—t——————g———_ e -
I ~ -z
o 20 [
S \ _P ;
\ N | - 4
L0
6
L=1000mm 2.5 150
310 140 .
Ceramic-Hybrid Bearings 3x@65 .
175 y 9 Bearings temperature sensor PT 100
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| | SPEED RPM_] 3000 | 6000 [9000 [12000
T 7 FREQUENCY | Mz | 100 | 200 | 300 | 400
! . POWER (S1) | kw |12.5] 25 | 25 | 25
| _Lm_p TORQUE (ST)| Nm | 42 42 [ 27 [ 20
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i Speed Krpm
M6 n°4 holes depth 15mm
o 42
1 - Coolant inlet (G1/8")(3+4 bar)(5+6 1/min.) =
2 - Coolant outlet (G1/8") =
3 - Inlet air tool change (6 bar)(G1/8") 27
(to be used only with arrested electrospindle) w
._.OOH SOU_.Qm_) Im_A A 63 4 - Inlet air return piston (6 bar)(G1/8") W 20 1_
5 - Elettric connection = 0
DIN 69893 sPhases motor Earth 8 6 ° 2
Motor thermich switch (N°1 PTC 130) Speed Krpm
6 - Outlet sensor's cables (S1-S2-S3-S4) Asyncronous motor:4 poles
S1 = Tool's arbor clamped.
S2 u:_uwmpﬁo: under ﬁﬂ,mmmcsm ready to receive tools arbor Runout Taper 0.002mm
. . . The electrospindle can not turn.
Grease Bearings Lubication 63 = Signal of spindle rotating. Imvm__g SUBJECT:PSI ES-109
. - S4 = Tool's arbor not clamped
Cooling capacity = 3950 Watt The electrospindle cannot turn. CUSTOMER:
@ U V\ 7 - Front-side pressurization filtred (5pu) INTERNATIONAL
Tool holder ISO/BT 40 (1-1.5 bar) (61/8") -
19 - Inlet air arbor's cleaning (6bar max)(G1/8") Sheet:1/1 |Dis.n°4719-00-01 DATE :




